

CATHEDRAL BASILICA

of CHRIST the KING

714 King Street West Hamilton, Ontario L8P 1C7 905-522-5744 www.ctkbasilica.ca



WELCOME!

The Cathedral Basilica of Christ the King is the principal church of the Diocese of Hamilton and home to the Bishop of Hamilton. The word "cathedral" comes from "cathedra" or Bishop's chair located in the church. On February 25th, 2013, in recognition of the significance of its design, and its importance in the Diocese, the Cathedral was given the status of a Minor Basilica by Pope Benedict XVI. The Cathedral Basilica was completed in 1933, and is a very beautiful structure that is reflective of the lively faith of its parishioners and the entire Diocese of Hamilton.

The Cathedral Basilica's Coat of Arms presents a shield sheltered by the ombrellino, and with crossed keys representing the papal designation of basilica status. The shield has a symbol for Christ with the crown of thorns and the crown of glory. The motto in Latin - every eye shall see him.

PASTORAL STAFF

The Most Reverend D. DOUGLAS CROSBY, OMI Bishop of Hamilton

Very Reverend DAVID A. WYNEN, Rector, VF Monsignor EDWARD D. SHERIDAN, In Residence Mrs. LISA TUCK, Parish Secretary Mrs. SANDRA GOULD, Pastoral Minister Mr. ROBERT CORSO, Director of Music Mr. SANDOR KOLLARICH, Maintenance Sister LENA PETRUCELLI, CSJB, Sacristan

PARISH OFFICE HOURS

Monday - Closed Tuesday - Thursday 8:30 a.m. - 4:30 p.m. Friday - 8:30 a.m. - 12:00 Noon

SUNDAY MASS

(Saturday) 5:00 p.m. Sunday 9:00 a.m. & 11:00 a.m.

RECONCILIATION

Saturday 4:00 p.m. - 4:30 p.m.

DAILY MASS

Tuesday - Friday at 8:00 a.m.

CARE OF THE SICK

To arrange pastoral visits to the sick in hospital or at home, please call the parish office.

PARISH REGISTRATION

To register with the Parish and to request Sunday Offering envelopes or information about preauthorized giving ... please complete a *Registration Form* - either online (parish website) or using a form found in the Tower entrance.

VOCATIONS TO THE PRIESTHOOD

For information contact the Office of Vocations (905) 528-7988.

CATHOLIC BURIAL NEEDS

Please contact The Catholic Cemeteries of the Diocese of Hamilton (905) 527-7727.

MASS INTENTIONS 23rd Week in Ordinary Time

Tuesday, September 6, 2022 1 Corinthians 6.1-11; Luke 6.12-19 No Mass – Priests' Seminar

Wednesday, September 7, 2022 1 Corinthians 7.1,17,25-31; Luke 6.20-26 No Mass – Priests' Seminar

Thursday, September 8, 2022 **Nativity of the Blessed Virgin Mary** *Romans 8.28-30; Matthew 1.1-16, 18-23* No Mass – Priests' Seminar

Friday, September 9, 2022

1 Corinthians 9.16-19, 22-27; Luke 6.39-42

8:00 a.m. + Robert & + Georgina Fogarty 2:00 p.m. Wedding - Brock & Santos

Saturday, September 10, 2022

12:00 Noon Wedding – Jiankos & Sollazzo 2:00 p.m. Wedding – Coppolino & Rosato

4:00 p.m. Reconciliation 5:00 p.m. Vigil – 24th Sunday

Intentions of the Deceased: Dante Socol; Jose Moniz; Frank Szostak; Jeno & Ilona Palko; Alessandro Rastelli

Sunday, September 11, 2022 **Twenty-fourth Sunday in Ordinary Time** *Exodus* 32.7-11,13-14; 1 *Timothy* 1.12-17; *Luke* 15.1-32

Priests' Seminar

For nearly three decades the Priests of Hamilton Diocese have gathered for days of study and reflection known as the Priests' Seminar. Plans for the annual gathering were cancelled the past few years due to COVID restrictions. We will gather with our Bishops for this privileged opportunity from September 6 – 8. This year's theme is on preaching at Sunday Mass. The Seminar also allows us an opportunity to catch up with Priests we do not see that often and to welcome Priests who are newly arrived in the Diocese. Please note that Daily Mass will not be celebrated at the Cathedral on these days (as indicated above).

RCIA

The *Rite of Christian Initiation of Adults* is the usual way in which adults become members of the Catholic Church will resume in our Parish at the end of September. If you, or someone you know, is not baptized and would like to become Catholic, please contact us for more information. The process is also open to baptized Christians who desire to enter into full communion with the Catholic Church. The RCIA gathers weekly from the end of September to Easter.

BISHOP-ELECT FRANK LEO

Monsignor Frank Leo, a Priest in the Archdiocese of Montreal (and a visitor to our Cathedral Basilica) will be ordained Auxiliary Bishop of Montreal on Monday, September 12. Bishop Crosby and Father Wynen will attend the Ordination at the Cathedral of Mary, Queen of the World in Montreal. Please pray for Bishop-elect Leo. He has chosen an great motto: *Quodcumque dixerit facite* – "Do whatever he tells you."

WEDDINGS

Wedding season shifts into full gear next weekend. Please pray for all the couples planning to celebrate the Sacrament of Matrimony at the Cathedral Basilica in the coming weeks.

WELCOME BACK!

September is not just the start of school, but also the beginning of our Pastoral Year in the Parish. Welcome all students and those who have enjoyed summer vacation. Thank you for joining us at the Cathedral Basilica and making this community your Parish home. Welcome to all families, single people, engaged couples and many others who join us for the Sacred Liturgy. The bulletin each week will highlight the life of our Parish, offer information, and invite your participation in the life of our community. All are welcome here!

COLLECTION REPORT July 2022

		Offerings	Loose	Misc
July PAD	113*\$80.74	\$ 9,123.33		
Sunday, July 3	142*\$34.64	\$ 4,918.55	\$ 1,182.45	\$ 165.00
Sunday, July 10	138*\$30.88	\$ 4,192.25	\$ 1,295.75	\$ 1,998.00
Sunday, July 17	136*\$24.99	\$ 3,358.00	\$ 1,163.00	\$ 265.00
Sunday, July 24	143*\$28.87	\$ 4,128.25	\$ 864.75	\$ 93.00
Sunday, July 31	127*\$29.97	\$ 3,806.00	\$ 963.00	\$ 25.00
		\$ 29,526.38	\$ 5,468.95	\$ 2,546.00

Sunday, August 7, 2022

Sulfact, 114543t 1, 2022						
August PAD	113*\$80.74	\$	9,123.33			
Regular Offerings	125*\$28.11	\$	3,513.25			
Loose Offerings		\$	1,121.75			
Stained Glass	5*\$11.00	\$	55.00			
		\$	13,813.33			
Sunday, August 14, 2022						
Regular Offerings	146*33.70	\$	4,920.85			
Loose Offerings		\$	1,212.15			
Stained Glass	46*\$23.93	\$	1,101.00			
		\$	7,234.00			

Collection information for August 20 & 28 will be included with next week's bulletin. Thank you to all our parishioners and visitors for your support of the Cathedral Basilica. All the sacrifices of *time*, *talent*, & *treasure* serve to build up and strengthen our community. If you would like to begin offering support either with weekly offering envelopes or *pre-authorized debits* please contact our Parish Office.

CELEBRATION OF SACRAMENTS

Parents of children enrolled in Public or private school who desire to celebrate the of 1 stCommunion, Sacraments Confirmation, at the Cathedral Basilica are invited to contact our Parish Office in the coming weeks. We encourage parents of these children to enroll in the appropriate level of the Religious Instruction correspondence course offered through the Chancery Office. We will be happy to assist you with immediate preparation for the Sacraments. In the Rite of Baptism, parents are acknowledged as the "first" teachers of their children in the faith with the prayer that they will be the best of teachers by their example. Please do contact us sooner rather than later. Children enrolled in Catholic schools may also receive Sacraments here - only with immediate preparation.

THANK YOU!

Thank you to our Cathedral Docents who have helped us have the Cathedral open three days each week during the summer months.



CWL MEETING

Our Parish *Catholic Women's League* Council will hold a General Meeting for all members on

Sunday, September 11, 2022 following the 11:00 a.m. Mass. Members will gather for a light lunch and discussion in McNally Hall.

BOARD RECOGNITION

Bishop Crosby will celebrate Mass on Wednesday, September 14 at 7 p.m. in the Cathedral Basilica in thanksgiving for the vocation of recently retired Superintendents with the HWCDSB – congratulations!

Compliments of

PATON MOTORS Neal & Sue Scobie 4 Breadalbane St. 905-527-8803

Valentino's

authentic homemade italian cuisine since 1978

Computerized Accounting Service

835 Paramount Dr. 824 King St. W. 905-523-4240 905-385-3284

Friscolanti Funeral Chapel Ltd.

Funeral Directors: Adriano D'Alessandro, Rod Cameron Alicia Friscolanti-Ludgate Shane Ludgate, Andrea Di Nicola Alex Kovacich, Kelly Del Fiacco Alex Ludgate (IT), Catherine Neilson

43 Barton St. E. 905-522-0912 www.friscolanti.com

Accountant



777 Guelph Line, Burlington Mall 2400 Lakeshore Rd., Oakville 826 Queenston Rd., Stoney Creek

Hamilton

284 King St. E. 1289 Upper James St. www.denningers.com

Remember...

Let our advertisers know you saw their ad here.



THE PERFECT **SPOT**

TO ADVERTISE YOUR BUSINESS!



1-800-268-2637

GAUTHIER PLUMBING Tom Gauthier & Son Plumbing Ltd.

Service, Sales, Repairs Drain Cleaning, Water Service

High Pressure & Video Lead water service Replacement 7 Bourbon Court

thomas@gauthierplumbing.ca

EURO-ACCOUNT-TAX Miroslaw Wasicki

Income Tax Free E-File, Single \$39.99, Couple \$79.98, HST Incl. Most refunds in 2 weeks, Open 7 days/week

557 Upper James St. 905-387-1759

7homas M Gauthier P: 905-574-7878 GAUTHIER C: 905-541-3332 — PLUMBING—

To all Parishioners of the Cathedral of Christ the King As a prevention for the future of your family's wellbeing we suggest looking into the replacement of Lead water service to your home. A specialty of Gauthier Plumbing

Special OFFER: To all Parishioners of Christ the King Cathedral When hiring our company to do a Plumbing repair Job in your home, Gauthier Plumbing will donate to The Cathedral of Christ the King on your behalf 25% of the labor cost (on repairs only).

SOLUTIONS in MATH

facebook.com/groups/31747094392<u>8140</u> <u>MĂTH TUTOR</u> Mary Helwig-Hall, OCT 905-977-0354 (text)



905-876-4488 **King Medical Pharmacy**

Dr. Branko Radisic DENTAL SURGEON

- Complete Family Dentistry -

342 Bronte St. S., Suite 1, Milton

Compliance / Blister Packaging Free Delivery

505 King St. W. 905-523-8388



CATERINA SORBARA

Sales Representative

289-700-0662

CaterinaSorbara@royallepage.ca

ROYAL LEPAGE STATE REALTY

Murray Peters Electric Limited

Commercial & Industrial Contracting & Repairs 905-549-3185



905.528.8385 info@ihfrench.com

STARS FINE FOODS (2)

2% OFF WITH LOYALTY CARD



THE BIGGEST SELECTION **OF EUROPEAN FOODS!**

WWW.STARSKYCANADA.COM

Precision -Contracting

Paolo Galli **General Contractor**

- Additions
- Renovations
- Kitchens
- Bathrooms

905.961.9019

www.precision-contracting.com info@precision-contracting.com

Call 1-800-268-2637 for this space

Your donation helps St. Joe's care for our community.



HOPE HEALING DISCOVERY

www.stjoesfoundation.ca/give

BayGardens & Bayview

funerals, cremations, cemetery & mausoleum

1010 Botanical Drive, Burlington, Ontario 905-527-0405 947 Rymal Road East, Hamilton, Ontario 905-574-0405

PRO // ACTIVE Health

Advanced Orthopaedic Physiotherapy



785 Pacific Rd, Oakville | 80 Traymore Ave, Hamilton 905-338-2898 admin@ProActiveHealth.ca





"School bus services, going your way" School Bus Charter Service

www.switzer-carty.com